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Seérie 2

Primera part

Exercici 1
Qlc Q2d Q3 b Q4b Q5c¢c
Exercici 2
a) IR 222@223A; IL =i:&=46A; |C:L:—230=23A
| =12 +(Ic -1, )" =232 +23% =32,53A
2 2
b) p-L -2 _5o90w
R 1
P P 5290 .
c) fdp=cos@p=—= = =0,707 (i
) fdp ¢ S U-l 230-32,53 0
OPCIO A
Exercici 3
a) PU,)=0=1U,))=0=IR)=IR,)=>U,=U R, _60£—40V
’ ? ' ? 27 7'R +R, 12
R2 8 1 4

c) P(U;)=U;-1(Ry)=60-10 = 600 W
P(Uy)=U,-1(Uy)=U, - (I(Rp) - I(Ry)) = 20-(2,5-10) = -150 W

Exercici 4
a) =k lokorod _goNM. £y 42022099 5594y
I 20 A 60
2n
b) U=R-I+E =0,15-20+ 20,94 = 23,94V
. Ceo 4.1000 27
c) n(%)=100-_mec. —100-—2 —100 60 _g7,5%
Pejec. u-l 23,9420
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OPCIO B
Exercici 3
a) n(%)= 100L = 90000 =94,25%
J3Ul cos ¢ J3.230.282.0,85

b) p = 2 parells de pols

® 484"
60

d) Estrella, ljj,j; = 163 A
Exercici 4
a) VO =0V

b) Vo =5V

2 2
c) p=-Y0 _5 _o5mw
R 1

d)

Funci6 O (OR)

Rl Ol k| O
R Rl Ol O
Rl Rk ol O
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SERIE 5

Primera part
Exercici 1

Ql b Q2 c Q3 b Q4 c Q5 b

Exercici 2
a) P=RI2:I=\/E= /M=30A
R 10
b) Q=XI2:X=Q=@=ZQ
1> 30

¢) U=2I=IWR?+ X? =30y10% + 2 =305,9 V

d) fdp=1=S=p; 1 =>-P_9000 5515
U U 3059
OPCIO A
Exercici 3
U 660 U 660
a) IR:£=£=19105A; |X=£=£=3,175A
R 20 X 120

I =12 +12 =19,052 +3,175% =19,32 A

5]

I 2 2

b) p=3\/_izu_=@=2178kw
R 20

-~ 2 2
v3) _U® _660° _ 3.63 kvar

3
-3 = -
Q X X 120

s=+/P2+Q? =/21782 +3,632 = 22,08 kKVA

¢) Consum simétric = Iy =0
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Exercici 4

a) n= 100" =100-490__ 83,33%
ul 48-10

400

1200@
60

by T=F - ~3,183Nm
()]

P 400

C) E48=_:_=40V; (Ri|)48:U48_E48:48_4O:8V

| 10

(Ri)4g =(Ri),y: Eza=Uzs—(Ril),g=24-8=16V

n =nF24 =1200% — 480 min~L

Esg
OPCIO B

Exercici 3

AUp3
AUpay =0,05U =115V, 2R 5, = —M&X

Smin = pRL =17,86-1073

max ,

100

— 5,402 mm?
6

b) S =6mm?

c) cdt%=5 ng =5 5’202 = 4,502%

Exercici 4

P 100 68000

a) 1=100 -
A J3Ulcoso \/3400-123-0,85

b) p=2

68000

1450@

60

¢ r=r- = 447,8Nm
(V)

d) Estrellal; =123 A

=0,6613 Q,

=93,88%

Rmax = 0,3306 Q



